—_

10.

11.

12.

13.

14.

15.

. /2x2dx

. 3
Resenje: 2% +c.

. /3x5dx

Resenje: 1—26 +c.
. /(10:54 —52° + x)dx
Refenje:22° — 5% + ””—22 +ec.

3

Resenje: 73%3 +c.
1 2 7
~ / (F-mtm)n
Resenje: — =15 + 5 — 2 4 ¢.
. / Vxdx
Resenje: 2V/z% +c.

1
/ v a:4dz

Resenje: *3%/5 + c.

11 3
./(;—ﬁwx/?)dx

Regenje: In|x| — 2/7 +4Va7 +c.

. /(gew +6-3%)da

Senie: Se® 3%
Resenje: ze* 4+ 615 +c.

/ (Tx — 1)5dx

7
Resenje: % + c.

Reéenje: 7m =+ c.

/ v3z + 2dz

Resenje: 1 /(32 +2)* + c.
| 7=
————dx
4 — 3
Resenje: %\/433 —-3+c
/x Vx? + 2dx

Resenje: 2{/(22 +2)% +c.

/m3(1 —zM5dx

4\6
Resenje: % +ec.

Za vezbu



16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

3z2 -1
—d
/ 3 —x+1 *
Resenje:In |23 — 2 + 1| + c.

T
/m_7dx

ReSenje: 4 7ln|xz — 7] + c.

/e_5mda;

ReSenje: —%e_m +c.
/\/ erdx
Resenje: 2ve® + c.

1
—dx
/ Vver
Resenje: _;3/% +c.

e$
—d
/eerl v

Resenje: In(e® + 1) +c.

/ 53% dg

o s 533:
Resenje: 3= +c.

/efzzxdx

. _ 2
Resenje: f%e T+

eﬁ

N2
ReSenje: 2eV® + c.

dz

In(10x)dx

Resenje: xIn10x — x + c.

ln%
/ 2 dx

ReSenje: —% ln% + % +c.

/ In® zdx

Resenje: x In®z — 3zIn’z + 6zlnz — 62 + c.

/(m—i— 1) In zde

Resenje: (I—; +z)lnz — % —z+ec.

/(2 —z —2%)e%dx

Resenje: (14 — 2?%)e” +c.

/ (332 + 4) cos 3xdr

/(az —2)sin gdx

/ €2 sin zdx




